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1. Measure the length of the line AB.

Give your answer in centimetres.

A

2. Measure the length of the line XY.

X

3. Measure the length of the line PQ.

P

4. Measure the length of the line ST.

Give your answer in centimetres.

5. Measure the length of the line PQ.

Give your answer in centimetres.

P

6. Measure the length of the line AB.

Give your answer in centimetres.

A

1) 7.9 em {7.7, 7.8, 7.9, 8, 8.0 or 8.1 allowed}
3) 8.2 cm {8, 8.0, 8.1, 8.2, 8.3 or 8.4 allowed}

5) 7.4 cm {7.2, 7.3, 7.4, 7.5 or 7.6 allowed}

2) 9.3 cm {9.1, 9.2, 9.3, 9.4 or 9.5 allowed}
4) 8.7 cm {8.5, 8.6, 8.7, 8.8 or 8.9 allowed}

6) 5.3 cm {5.1, 5.2, 5.3, 5.4 or 5.5 allowed}

Q@O To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited



